B (T) FRMEREXSKR - #HHFAOFER

THMAFIRIBEAE = F
XA E2 = &t T X2 8 8 B HE
m1TH 454 496 950 500| KFTES 15 13 28 10
F2TH 229 256 485 232 KFHh 5 9 6 15 10
m3TH 527 509 1,036 505|| K FHEEFith 92 94 186 19
F4TH 626 615 1,241 602 KFF 5 287 293 580 267
m5TH 1,123 1,142 2,265 1,092(F&1TH 20 19 39 15
i1TH 919 924 1,843 812|F&2TH 29 19 48 21
+2TH 326 320 646 28| KFEF 98 106 204 88
i3TH 339 331 670 310|[FEH1TH 30 21 57 22
m1TH 352 342 694 3B KRFREHE 208 207 415 152
m2TH 847 859 1,706 835(|XME1TH 25 16 a4 21
m3TH 186 1 1,557 162 KFFEE 116 101 217 84
RFEF 1,214 1,073 2,287 1,027\ €1 TH 16 14 150 56
®1TH 815 172 1,587 1981 FZEE 2 TH 157 166 323 156
®2TH 167 854 1,621 165|[K=F = 97 108 205 89
®3TH 133 700 1,433 658|| KX F T % 13 19 162 83
®4TH 366 371 137 342 KFH B 95 90 185 17
®5TH 523 519 1,042 488 KF K 91 82 173 68
#Be1TH 1,026 1,089 2,115 1,006(% 1 & 207 171 384 293
#e2TH 269 289 558 247k 2 & 311 345 656 366
B1TH 285 302 587 293k 3 & 249 224 473 287
m2TH 347 337 684 20|k 4% 592 519 1,11 189
RFREFFE 206 208 414 1763 5 & 236 235 4n 338
K1 260 266 526 2155k 6 & 230 226 456 249
KRF T 934 934 1,868 654(|%% 7 & 115 126 24 75
RFFIE 1,111 1,073 2,184 865|ZFHM 1 TH 364 386 750 338
RFHBEN 484 486 970 349|FAM 2 TH 536 548 1,084 498
RFENA 214 212 426 2001FHMm 3 TH 218 208 426 193
ARFERE 124 123 247 18|FEMATH 275 275 550 239
RFHEFFE 170 169 339 148
RFLEH 1,150 1,127 2,271 955
5% 1TH 465 490 955 394
ARFHERE 226 193 419 196
RFESH 279 253 532 227
RFMHEAR 302 273 575 251
RFARIL 189 174 363 154
RFRFHH 586 530 1,116 482
KRFHE 17 20 37 14
RFTFHHA 118 95 213 92
RFEFFH 88 80 168 10
RFTEH 182 216 398 201

RFAEEE 68 61 129 57 B 24,897 24,623 49,520 23,045




